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1.8t s Al Zkol Y 700,000 700,000 700,000
1.8 A7 F4+ 700,000 700,000 700,000
a7 5 H1d T = 700,000
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T 9,558,000 9,558,000 10,297,750
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(&9 = 2)
3=
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1AM R EF4E 6,270,000 6,270,000 7,149,880
1AM B E 42 6,270,000 6,270,000 7,149,880
AHER = 7,149,880
2. 7184435+ 3,288,000 3,288,000 3,147,870
1.01244 1,700,000 1,700,000 1,683,250
o] z}=¢] = 1,683,250
2. 71684 ESY 1,588,000 1,588,000 1,464,620
Ve 3R L EFT = 1,464,620
34,909,000 34,909,000 34,908,460
4= 34,909,000 34,909,000 34,908,460
1.EAAY = 34,909,000 34,909,000 34,908,460
1.eAAY A= 34,909,000 34,909,000 34,908,460
FEAAD A = 34,908,460
A < 37 2,332,254,000| 2,332,254,000) 2,332,982,990
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